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QUESTION 1

The classic network forwarding method is based on router routing table forwarding. The forwarding method of OpenFlow
switches is based on flow table forwarding. Which of these two forwarding methods are correct? ()* 

A. The routing table is of fixed length. A device can only have one public routing table 

B. The flow table is getting longer. A network device can only have one flow table 

C. The matching method of the flow table is to match the MA of the flow at the same timeC.Address andIP address 

D. The matching method of the address table is to match the route of the destination network segment with the longest
mask 

Correct Answer: ACD 

 

QUESTION 2

There is a WeB server in the private network that needs to provide HITP services to public network users. Therefore,
the network administrator needs to configure NAT on the gateway router RTA. 

A. RTA-Gigabitethernet0/0/1 nat server protocol tcp global 192.168.1.1 www inside 202.10.10.18080 

B. (RTA-Serial1/0/1) nat server protocol tcpglobal 192.168.1.1 www inside202.10.1 0.18080 

C. (RTA-Gigabitethernet0/0/1) nat server protocol tcp global 202.10.10.1 www inside 192.168.1.18080 

D. (RTA-Serial1/0/1) nat server protocol top global 202.10.10.1 www inside192.168.1.18080 

Correct Answer: D 

 

QUESTION 3

The second layer switch belongs to the data link layer device, which can identify the MAC address information in the
data frame, forward data according to the MAC address, and record these MAC addresses and corresponding port
information in its own MAC address table. () 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

An AR2200 router needs to restore the initial configuration, which of the following operations are necessary? ()* 

A. Clear current configuration 
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B. Re-specify the configuration file to be loaded at the next startup 

C. Reset saved.configuration 

D. Restart the AR2200 router 

Correct Answer: CD 

 

QUESTION 5

Switch stacking supports more than two devices, and multiple switches can be grouped into a logical device through
stacking. () 

A. True 

B. False 

Correct Answer: A 
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